

# Estimate #2363

Created: 9/14/2023 07:10 AM CDT Payment Term: On Receipt Service Writer: Bobbi Jenson

#### 1973 Volkswagen Westfalia

**Kurt Goetzinger** 6004 Lafayette Avenue Omaha, NE 68132 Mobile: (402) 714-0290 kurt@omahaadvertising.com

Customer Comments	Recommendations
My bus has been sitting for a long time (about 3 years). I got it running this week, but it's not running great. I want to get it mechanically running well and be sure it's safe - and have your team's professional opinion on the priorities to get done so I may budget for an eventual full restoration/ upgrade. Last week I purchased a new battery (the tray is rusted). I am also including a new oil gasket and fuel line. I will have it towed to you when you let me know it's okay to do so. Thank you! - Kurt	Authorized- + Multi Point Inspection

#### [2023] Multi-Point Inspection Description

	Description	Subtotal	
1	Perform Multi-Point Inspection & Road Test When Applicable		
	May include small repairs to identify potential issues and recommend a course of action.		
	Shop Supplies (5%): \$17.81 Tax (7%): \$24.94	Total: \$399.00	

Engine / Fuel System / Oil Leaks / Brakes / Suspension				
***RELOCATE BATTERY TO LEFT SIDE				
	Description	Price	QTY	Subtotal
1	Engine / Fuel System / Oil Leaks / Brakes / Suspension			\$0.00
2	Dual Solex 34 T-4 Part #: 3286 Note: Dual Solex 34mm Kit with Electric Chokes - Type-4 & 914	\$730.73		\$0.00
3	***Dual Solex 34 T-4 ***USING THE CARBS REMOVED FROM 1833 W/ NEW KITS INSTALLED	\$400.00	1	\$400.00
4	Valve Cover Gasket Part #: 021101481	\$5.00	2	\$10.00
5	Pushrod Tube Seal - Small Part #: 021109345AV	\$1.58	2	\$3.16
6	Pushrod Tube Seal - Large Part #: 021109349AV	\$1.44	2	\$2.88
7	Oil Strainer Gasket Kit Part #: 021198031	\$1.54	1	\$1.54
8	Spark Plug Part #: 5866	\$4.70	4	\$18.80



## Estimate #2363

Created: 9/14/2023 07:10 AM CDT Payment Term: On Receipt Service Writer: Bobbi Jenson

9         Ignition Plug Wires Part #: 021998031A         \$51.82         1         \$51.82           10         Distributor Cap Part #: 03010         \$27.69         1         \$27.69           11         Distributor Cap Part #: 04110         \$17.30         1         \$17.30           12         Ignition Points Part #: 02086         \$15.30         1         \$15.30           13         Condenser Part #: 02086         \$14.00         1         \$14.00           14         Fuel Pump With Filter Part #: 022560         \$16         1         \$99.93         1         \$99.93           15         CONTINENTAL BELT 10X965 T-4 Part #: 96.537.9 Note: ***         \$6.76         1         \$6.76           16         HEATER BOX left DANSK Part #: 021256091M         \$484.63         1         \$484.63           17         HEATER Control box left Part #: 021256092M         \$135.54         1         \$135.54           18         HEATER Control box left Part #: 021256025K         \$135.54         1         \$135.54           19         HEATER Control box left Part #: 021256025K         \$135.54         1         \$135.54           14         Part #: 021256025K         \$135.54         1         \$135.54           15         Part #: 021256025K         \$135.54 <th colspan="5">Engine / Fuel System / Oil Leaks / Brakes / Suspension</th>	Engine / Fuel System / Oil Leaks / Brakes / Suspension				
Part #: 03010         Number of the second seco	9		\$51.82	1	\$51.82
Part #: 04110           12         Ignition Points Part #: 311998063         1         \$15.30         1         \$15.30           13         Condenser Part #: 02086         \$14.00         1         \$14.00           14         Fuel Pump With Filter Part #: 47-2604-0         \$99.93         1         \$99.93           15         CONTINENTAL BELT 10X965 T-4 Part #: 98-5237-B         \$6.76         1         \$6.76           16         HEATER BOX left DANSK Part #: 021255091M         \$484.63         1         \$484.63           17         HEATER BOX left DANSK Part #: 021256092M         \$484.63         1         \$484.63           18         HEATER Control box left Part #: 021256026K         \$135.54         1         \$135.54           19         HEATER control box left Part #: 021256026K         \$135.54         1         \$135.54           20         Left Heater Cable - 4100mm Part #: 211711629N         \$36.80         1         \$36.80           21         HEATER CABLE right w/hook Part #: 21171629N         \$14.26         2         \$28.52           23         Ball Joint Boot Part #: 211498001         \$11.38         4         \$45.52           24         Stabilizer Kit - Pair Part #: 211498017A         \$54.72         1         \$54.72	10		\$27.69	1	\$27.69
Part #: 311998063         S14.00         1         \$14.00           13         Condenser Part #: 02086         \$14.00         1         \$14.00           14         Fuel Pump With Filter Part #: 41-2604-0         \$99.93         1         \$99.93           15         CONTINENTAL BELT 10X965 T-4 Part #: 98-5237-B Note: ***         \$6.76         1         \$6.76           16         HEATER BOX right DANSK Part #: 021256091M         \$484.63         1         \$484.63           17         HEATER BOX right DANSK Part #: 021256092M         \$135.54         1         \$135.54           18         HEATER control box left Part #: 021256205K         \$135.54         1         \$135.54           19         HEATER control box right Part #: 021256206K         \$135.54         1         \$135.54           20         Left Heater Cable - 4100mm Part #: 211711629N         \$36.80         1         \$36.80           21         HEATER CABLE right w/hook Part #: 02129087A         \$14.26         2         \$28.52           23         Ball Joint Boot Part #: 0211498001         \$11.38         4         \$45.52           24         Stabilizer Kit - Pair Part #: 211498101A         \$24.48         1         \$24.48           25         Left Tie Rod - Adjustable Part #: 211415801FIT         \$5	11		\$17.30	1	\$17.30
Part #: 02086           14         Fuel Pump With Filter Part #: 41-2604-0         \$99.93         1         \$99.93           15         CONTINENTAL BELT 10X965 T-4 Part #: 98-5237-8 Note: ***         \$6.76         1         \$6.76           16         HEATER BOX left DANSK Part #: 021256091M         \$484.63         1         \$484.63           17         HEATER BOX right DANSK Part #: 021256092M         \$135.54         1         \$484.63           18         HEATER control box left Part #: 021256056K         \$135.54         1         \$135.54           19         HEATER control box right Part #: 021256206K         \$135.54         1         \$135.54           20         Left Heater Cable - 4100mm Part #: 211711629N         \$36.80         1         \$36.80           21         HEATER Control box right Part #: 211711629N         \$11.38         4         \$45.52           21         Heater Cable - 4100mm Part #: 211711629N         \$11.38         4         \$45.52           22         Fresh Air Hose - Black Paper Part #: 02129087A         \$1         \$13.44           22         Fresh Air Hose - Black Paper Part #: 211498001         \$11.38         4         \$45.52           23         Ball Joint Boot Part #: 211415801FIT         \$54.72         1         \$54.72 <tr< td=""><td>12</td><td></td><td>\$15.30</td><td>1</td><td>\$15.30</td></tr<>	12		\$15.30	1	\$15.30
Part #: 41-2604-0         15       CONTINENTAL BELT 10X965 T-4 Port #: 98-5237-8 Note: ***       \$6.76       1       \$6.76         16       HEATER BOX left DANSK Part #: 021256091M       \$484.63       1       \$484.63         17       HEATER BOX right DANSK Part #: 021256092M       \$135.54       1       \$484.63         18       HEATER control box left Part #: 02125605K       \$135.54       1       \$135.54         19       HEATER control box left Part #: 021256205K       \$135.54       1       \$135.54         10       HEATER control box right Part #: 021256206K       \$135.54       1       \$135.54         19       HEATER control box right Part #: 021256206K       \$135.54       1       \$135.54         20       Left Heater Cable - 4100mm Part #: 211711620N       \$136.80       1       \$36.80         21       HEATER CABLE right w/hook Part #: 211711620N       \$14.26       2       \$28.52         23       Ball Joint Boot Part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kt - Pair Part #: 211498001       \$54.72       1       \$54.72         25       Left TE Rod - Adjustable Part #: 211415802FIT       \$58.08       1       \$58.08         25       Part #: 211415802FIT       \$58.08 <t< td=""><td>13</td><td></td><td>\$14.00</td><td>1</td><td>\$14.00</td></t<>	13		\$14.00	1	\$14.00
Part #: 98-5237-B Note: ***       \$484.63       1       \$484.63         16       HEATER BOX left DANSK Part #: 021256091M       \$484.63       1       \$484.63         17       HEATER BOX left DANSK Part #: 021256092M       \$484.63       1       \$484.63         18       HEATER CONTright DANSK Part #: 021256206K       \$135.54       1       \$135.54         19       HEATER control box left Part #: 021256206K       \$135.54       1       \$135.54         20       Left Heater Cable - 4100mm Part #: 211711629N       \$36.80       1       \$36.80         21       HEATER CABLE right w/hook Part #: 211711630N       \$19.44       1       \$19.44         22       Fresh Air Hose - Black Paper Part #: 211498001       \$14.26       2       \$28.52         23       Ball Joint Boot Part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair Part #: 211498001A       \$54.72       1       \$54.72         25       Left Tie Rod - Adjustable Part #: 211415801FIT       \$58.08       1       \$58.08       1       \$58.08         26       Right Tie Rod Part #: 211415701G       \$92.88       1       \$58.08       \$92.88       \$92.88       \$92.88       \$92.88       \$92.88       \$	14		\$99.93	1	\$99.93
Part #: 021256091M         17       HEATER BOX right DANSK Part #: 021256092M       \$484.63       1       \$484.63         18       HEATER control box left Part #: 021256206K       \$135.54       1       \$135.54         19       HEATER control box right Part #: 021256206K       \$135.54       1       \$135.54         20       Left Heater Cable - 4100mm Part #: 211711629N       \$36.80       1       \$36.80         21       HEATER CABLE right w/hook Part #: 211711630N       \$19.44       1       \$19.44         22       Fresh Air Hose - Black Paper Part #: 02129087A       \$14.26       2       \$28.52         23       Ball Joint Boot Part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair Part #: 211498001A       \$24.48       1       \$24.48         25       Left Tie Rod - Adjustable Part #: 211415801FIT       \$54.72       1       \$54.72         26       Right Tie Rod Part #: 211415802FIT       \$58.08       1       \$58.08         26       Right Tie Rod Part #: 211415802FIT       \$92.88       1       \$92.88         27       Drag Link Part #: 211415701G       \$103.88       4       \$415.52         28       C.V. Joint Kit       \$103.88	15	Part #: 98-5237-B	\$6.76	1	\$6.76
Part #: 021256092M         18       HEATER control box left part #: 021256205K       \$135.54       1       \$135.54         19       HEATER control box right part #: 021256206K       \$135.54       1       \$135.54         20       Left Heater Cable - 4100mm part #: 211711629N       \$36.80       1       \$36.80         21       HEATER CABLE right w/hook part #: 211711629N       \$19.44       1       \$19.44         22       Fresh Air Hose - Black Paper Part #: 208129087A       \$14.26       2       \$28.52         23       Ball Joint Boot part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair Part #: 21149801A       \$24.48       \$24.48       \$24.48         25       Left Tie Rod - Adjustable Part #: 21149801A       \$58.08       1       \$58.08         26       Right Tie Rod Part #: 211415807FIT       \$58.08       1       \$58.08         26       Right Tie Rod Part #: 211415807FIT       \$58.08       1       \$58.08         27       Drag Link Part #: 211415701G       \$92.88       1       \$92.88         28       C.V. Joint Kit       \$103.88       4       \$415.52	16		\$484.63	1	\$484.63
Part #: 021256205K         19       HEATER control box right Part #: 021256206K       \$135.54       1       \$135.54         20       Left Heater Cable - 4100mm Part #: 211711629N       \$36.80       1       \$36.80         21       HEATER CABLE right w/hook Part #: 211711630N       \$19.44       1       \$19.44         22       Fresh Air Hose - Black Paper Part #: 028129087A       \$14.26       2       \$28.52         23       Ball Joint Boot Part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair Part #: 211415801FIT       \$24.48       1       \$24.48         25       Left Tie Rod Part #: 211415801FIT       \$58.08       1       \$58.08         26       Right Tie Rod Part #: 211415802FIT       \$58.08       1       \$58.08         27       Drag Link Part #: 211415701G       \$92.88       1       \$92.88         28       C.V. Joint Kit       \$103.88       4       \$415.52	17		\$484.63	1	\$484.63
Part #: 021256206K         20       Left Heater Cable - 4100mm       \$36.80       1       \$36.80         Part #: 211711629N       \$19.44       1       \$19.44         21       HEATER CABLE right w/hook       \$19.44       1       \$19.44         22       Fresh Air Hose - Black Paper       \$14.26       2       \$28.52         23       Ball Joint Boot       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair       \$24.48       1       \$24.48         25       Left Tie Rod - Adjustable       \$54.72       1       \$54.72         26       Right Tie Rod       \$58.08       1       \$58.08         27       Drag Link       \$92.88       \$92.88       \$92.88         28       C.V. Joint Kit       \$103.88       4       \$415.52	18		\$135.54	1	\$135.54
Part #: 211711629N       \$19.44       \$19.44         21       HEATER CABLE right w/hook Part #: 211711630N       \$19.44       \$19.44         22       Fresh Air Hose - Black Paper Part #: 028129087A       \$14.26       2       \$28.52         23       Ball Joint Boot Part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair Part #: 211498101A       \$24.48       1       \$24.48         25       Left Tie Rod - Adjustable Part #: 211415801FIT       \$54.72       1       \$54.72         26       Right Tie Rod Part #: 211415802FIT       \$58.08       1       \$58.08         27       Drag Link Part #: 2114157016       \$92.88       1       \$92.88         28       C.V. Joint Kit       \$103.88       4       \$415.52	19		\$135.54	1	\$135.54
Part #: 211711630N         22       Fresh Air Hose - Black Paper Part #: 028129087A       \$14.26       2       \$28.52         23       Ball Joint Boot Part #: 211498001       \$11.38       4       \$45.52         24       Stabilizer Kit - Pair Part #: 211498101A       \$24.48       1       \$24.48         25       Left Tie Rod - Adjustable Part #: 211415801FIT       \$54.72       1       \$54.72         26       Right Tie Rod Part #: 211415802FIT       \$58.08       1       \$58.08         27       Drag Link Part #: 211415701G       \$92.88       1       \$92.88         28       C.V. Joint Kit       \$103.88       \$415.52	20		\$36.80	1	\$36.80
Part #: 028129087A       ************************************	21		\$19.44	1	\$19.44
Part #: 211498001         24       Stabilizer Kit - Pair Part #: 211498101A       \$24.48       1       \$24.48         25       Left Tie Rod - Adjustable Part #: 211415801FIT       \$54.72       1       \$54.72         26       Right Tie Rod Part #: 211415802FIT       \$58.08       1       \$58.08         27       Drag Link Part #: 211415701G       \$92.88       1       \$92.88         28       C.V. Joint Kit       \$103.88       \$415.52	22		\$14.26	2	\$28.52
Part #: 211498101A         25       Left Tie Rod - Adjustable       \$54.72       1       \$54.72         26       Right Tie Rod Part #: 211415802FIT       \$58.08       1       \$58.08         27       Drag Link Part #: 211415701G       \$92.88       1       \$92.88         28       C.V. Joint Kit       \$103.88       4       \$415.52	23		\$11.38	4	\$45.52
Part #: 211415801FIT         26       Right Tie Rod Part #: 211415802FIT         27       Drag Link Part #: 211415701G         28       C.V. Joint Kit	24		\$24.48	1	\$24.48
Part #: 211415802FIT         27       Drag Link Part #: 211415701G         28       C.V. Joint Kit         \$103.88       4	25		\$54.72	1	\$54.72
Part #: 211415701G         28       C.V. Joint Kit       \$103.88       4       \$415.52	26		\$58.08	1	\$58.08
	27		\$92.88	1	\$92.88
	28		\$103.88	4	\$415.52



## Estimate #2363

Created: 9/14/2023 07:10 AM CDT Payment Term: On Receipt Service Writer: Bobbi Jenson

Engi	Engine / Fuel System / Oil Leaks / Brakes / Suspension				
29	SHOCK ABSORBER FT COFAP Part #: 211413031PBR		\$32.76	2	\$65.52
30	SHOCK ABSORBER FT COFAP Part #: 211413031PBR		\$32.76	2	\$65.52
31	Rear Wheel Cylinder Part #: 211611047F		\$31.70	2	\$63.40
32	Left Caliper Part #: 251615107		\$169.23	1	\$169.23
33	Right Caliper Part #: 251615108		\$169.23	1	\$169.23
34	Master Cylinder Part #: 211611021AA		\$272.46	1	\$272.46
35	Brake Servo Part #: 211611905		\$290.00	1	\$290.00
36	Rear Brake Hose Part #: 281611775B		\$23.76	2	\$47.52
37	HOSE BRAKE REAR *NO SLOT* Part #: 211611775C		\$8.64	1	\$8.64
38	Brake Hose (Front & Rear) Part #: 211611775B		\$10.80	1	\$10.80
39	BRAKE DISC ft ATE Part #: 211615301B		\$77.22	2	\$154.44
40	Front Inner Wheel Bearing (FAG) Part #: 211405625		\$19.26	2	\$38.52
41	Front Outer Wheel Bearing Part #: 211405645D		\$18.00	2	\$36.00
42	Front Wheel Oil Seal (Elring) Part #: 211405641D		\$3.60	2	\$7.20
43	Rear Brake Drum Part #: 211609615IT		\$91.44	2	\$182.88
44	Brake Shoe Set Part #: 421N		\$45.00	1	\$45.00
45	Handbrake Cable - 2960mm Part #: 211609701T		\$24.48		\$48.96
46	ELBOW heat riser LEFT Part #: 71256051		\$86.30	1	\$86.30
47	ELBOW heat riser RIGHT Part #: 71256052		\$86.30	1	\$86.30
		Shop Supplies (5%): \$226.67	Tax (7%): \$317.34	Total:	\$5,077.41

Promotion: BlazeCut (Bus/Van)



## Estimate #2363

Created: 9/14/2023 07:10 AM CDT Payment Term: On Receipt Service Writer: Bobbi Jenson

Pror	Promotion: BlazeCut (Bus/Van)				
	Description		Price	QTY	Subtotal
1	BlazeCut Installation				\$0.00
2	FREE with any other paid service BlazeCut T300E		\$327.54	1	\$327.54
	Part #: T300E	Shop Supplies (5%): \$16.38	Tax (7%): \$22.93	Tota	l: \$366.85
			· · · · · · · · · · · · · · · · · · ·		

Estimates are an approximation of charges to you for the services requested. They are based on the anticipated details of the work to be done. It is possible for unexpected complications to cause some deviation from the estimated amount. I hereby authorize the repair work hereinafter set forth to be done along with the necessary material and agree that you are not responsible for loss or damage to vehicle or articles left in vehicle in case of fire, theft or any other cause beyond your control or for any delays caused by unavailability of parts or delays in parts by the supplier or transporter.

\*PLEASE SELECT "APPROVE" UPON REVIEW OF THIS MESSAGE

Signature

Totals only include authorized services

Parts Labor Subtotal Shop Supplies Tax Grand Total Paid To Date	\$356.25 \$5,217.19 \$260.86 \$365.20 \$5,843.25
REMAINING BALANCE	\$3,343.25

\$65.28

Tax (7%): \$14.60

2

Payments		
10/25/2023	Credit card ending in 3218	\$2,500.00

#### Declined

2

7" Head Lamp - H4 12V

[2023] Tire Replacement (Bus/Vanagon - Hanook) Headlights / Wipers			
		Total:	\$1,176.63
[2023] 7" H-4 LED Upgrade (Possible)			
Description	Price	QTY	Subtotal
1 Swap Sealed Beams for H-4			\$210.00

	Part #: UN6207475			
3	H4 LED Headlight Bulb - Pair Part #: 9003LED	\$77.98	1	\$77.98

Shop Supplies (5%): \$20.93

\$130.56

Total: \$454.07